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Full Marks:- 100 Time: 2% Hours
Answer all questions. All questions carry equal marks.

1. Find the possible number of equations of second degree in one variable such that the product roots
and their sum of roots are equal.

TP R H TS & GHa FHIBRON BT AT A DI d qei BT [OAH iR AN SRR 8 |
2. Represent 1.23 in the form of Z
1.23 @ g i B o B
3. Which is greater V3ori/s?
V3 @ V5 ¥ 9 39 qer @
4. Find the last digit of the sum 1! 4+ 2! 4 --- 4+ 10!,
10+ 21 4 -+ 10! anT &7 $ifcH 3fd sira BTy |
5. If both the zeros of the quadratic polynomial ax? + bx + c are equal and opposite in sign then the
valueof b is .
Ife fgard 9gus ax? + bx + ¢ & <F TId F WeR AR RE F 0udd & @ b &1 A e |

6. Find the number of solutions of the linear equation 2x + 3y = 4 and write their all solutions.
Rgd THHT 2x + 3y = 4 & Tl B WA A DI AR I T T foIRag |

18-2m 4m+3 m 8
7. Solve + =—+-.
7 5 7
18-2m  4m+3 _ m 8 .
+ >—+- BT B
5 7 5 7
1
x z . 3x3-11y34+132z3\3
8. If==2=2Z thenthe prove that each ratio is equal to (4)
a b ¢ 3a3-11b3+13¢3

1

x z 3x3-11y3+132z3\3
aﬁg=2=? 21 @ @R | B (+) BT T AT SRR & |

b 3a3-11b3+13¢3
The angry Arjun carried some arrows for fighting with Bheeshm. With half the arrows, he cut down the

arrows thrown by Bheeshm on him and with six other arrows he killed the rath driver of Bheeshm. With
one arrow each he knocked down respectively the rath, flag and the bow of Bheeshm. Finally, with one
more than four times the square root of arrows he laid Bheeshm unconscious on an arrow bed. Find the
total number of arrows Arjun had.

e TS o i § e & T e it =y e S & 3E i g ST O ek Y TN SRl e foAT STR BF = |l & 36
ST o T ATk 1 AR STl UH-Ueh o016 36 ShART: IS o 1, &asl 3 o 1 Ry foam oid #, Smon & e o =R T § A
o WY 3 A T Ueh oL foet o ST ot oo s o ar o7 <o o, S6eht et §edT S i)

Two pipes A and B can fill a cistern in 12 min and 16 min respectively. Both the pipes are opened

A . . 7
together for a certain time but due to some obstruction, the flow of water was restricted to ry of the full

flow in pipe A and % of the full in pipe B. The obstruction, is removed after some time and the tank is

now filled in 3 min from that moment. For how many minutes was the obstruction there?
T UIRT A T B Tk 5hT 1 w12 Toe 3T 16 Toe & it Tk 81 41 igdi ol weh ffira wme 3 fote wok arer @ie St &, aifer foredt

T o FHNT, T 1 JGTE 15T A H 01 SETE % 7/8 AR 1gd B H 9T ATE o 5/6 T WHHA T ST 2| FHEE I 91E § g {77 St 21 F
GH I AT 37 3T &qor 9 3 Tz 7 s sireft 21 for firme e st o e



